.. Is the set { {H , [_11} } a linearly independent subset of R2.

Determine whether the given vectors are linearly independent or linearly dependent in R3

17 1] [1
1, (2], 13
1| [3] |6

Check whether the following vectors forms a basis of R? or not.

1)

and if it is basis of R? then write for any arbitrary vector {a

Bl |

Suppose {vy, v, v3,v4} points lies on the line in R? then show that set {vy — vy, vy — v} is linearly
dependent subset of R? .

] of R? in the linear combination of

let
W ={(z,y,2)|r +y+ 2 =0}

show that W is a vector space over field R and find its basis and dimension.
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